. Explain the relationship between technological
change and employment.

deHIl a3 USTIR & i S i oAl
RIS |

. Explain Fellner’s approach to bilateral monopoly

based on various assumptions about the purpose
and behaviour of labour unions.

i Tl & SeYd 3TN Haer & aR § fafie eronsi
% YR W fgueia TwiiysR & oy ®eR & gfteswin
Ht AR HITST |

. Explain the meaning and difference between MRP
and VMP.

TH.ART. iR dua.q. & o1 IR =R il W
T |

. Determine the labour supply curve in the long-run.
e H gl G w1 fuRe S

. Explain the ill-effects of longer working hours.

FHME & TS AR BH h GOURUMH i A IS |

. Discuss the structure of the Trade Union in India.

aRd H A% e Rl WA HI fga= sifse
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Note .— The question paper is divided into two Sections

A and B. Write answers as per the given
instructions.

Fder - ' yv-u ‘e’ @R ‘€ el | fawfea ¥ g

TUg & FEIER g9 & S S
Section-A 4%x4=16
(Very Short Answer Type Questions)

Note .— Answer any four questions. As per the nature of

the question delimit your answer in one word, one
sentence or maximum up to 30 words. Each
question carries 4 marks.
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QUE—H
(afa oy 3T Uv)

o .- =l 9 939 & S ST 8T ST SW Sl
YIIIER U T, Uh A AT Awad 30 sl A

i SIS T 99T 4 3R] T

1. Give answers to the following any four questions :

frefafed § 9 fozgl a) 9o & SW SN .

(1)

(ii)

(iii)

(iv)

v)

(vi)

Define Full Unemployment.
o ISR =1 aRIfa wifs |

What do you mean by Ilabour intensive
technique ?

99 e dER W ST F THI § 2

Determine the supply curve for a particular
labour.

et o 9m & fau emfd o fuifa wifse)
Define Marginal Labour.

A= gifies sl gt shifswl

Define Formal Sector.

sto=nfier &5 w1 gRwfea e |

What do you understand by Monopsony ?
Hl-TRITUhR & 39 o1 99zd & ?
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(vii) What do you mean by Social Security ?
IS G | S 1 WHE § 2

(viii) Distinguish  between working and non-

working populations.

FEYA T STREINd SEEd H TR T
HIfT |
Section-B 4%x16=64
(Short Answer Type Questions)

Note .— Answer any four questions. Each answer should not
exceed 200 words. Each question carries 16 marks.
gUg—a
(g I q9)
e .- =t = uvel & W ST e e SW W
Afreram 200 3151 § gREifAa wifsw) g 9
16 3Tt #1 ¥

2. Describe the subject-matters of Labour Economics.
99 UM HT fTII-a% T T HIC |

3. What are the benefits of Collective Bargaining ?

Explain.
gmfew dieaTSt & F N ¥ 7 GHEY |
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